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Do different groupings matter?

Histogram of height with 7
intervals
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Histogram of height
with 3 intervals This is a graph using
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How would you improve the graph? \
Use the attached Excel worksheet (Different
Groups) to obtain your own graph with only 2
height groups like the one above. Compare the
results with graphs using 5, 10 and then 20 groups,
the tables have been started for you. Which graph

wou think is the best at representing the dw

! This resource is from the CensusAtSchool project at www.censusatschool.ie !




